





How many insects?
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13, 14, 15, 16, 17, 18, 19

thir four fif six
seven «~eigh nine







30
Three — Thirty



40, 50, 60, 70, 80, 90
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Let’s count!
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Let’s count! .
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Let’s count!
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Correct Thomas!

elewen sixten
tvelwe eightteen
, ninteen
thriteen
twenti

fivteen






Kakoi1 mo mopsaAky?
Ordinal Numerals

athe fourth
athe fifth
athe sixth

a the third (3-uit) sthe seventh

athe ...th

m the first (1-sut)

= the second (2-oi1)



86O

Tom John Nick Sam Ram Jack

Tom is the first. (the 1%)
John is the second. (the 229) BRGNS (141
Nick is the third. (the 3'%) 5 + th = the fifth

6 + th = the sixth



The letter 1S

The letter 1S

The letter 1S



The letter ¢ D




WELL DONE!



